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QUESTION 1

An administrator has deployed Distributed Firewall to protect their infrastructure from security threats. Due to extreme
loads on the network the CPU is saturated and the memory becomes full.

In this scenario, which mode does the Distributed Firewall enter?
A. Secondary

B. Fail open

C. Proxy

D. Fail close

Correct Answer: B

QUESTION 2

Which internet security protocol does NSX Edge use to interoperate with all major VPN vendors\\' equipment?
A.TLS

B. TCP/IP

C. HTTPS

D. IPSec

Correct Answer: D

QUESTION 3

How can the legacy physical network be simple, stable and reliable when network abstraction is implemented?
A. By leveraging the existing physical devices without configuration changes

B. By automating services for provisioning new services.

C. By configuring new VLANS.

D. By integrating third-party devices with the existing infrastructure.

Correct Answer: A

QUESTION 4

An organization has not yet implemented network virtualization in their IT infrastructure.
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What are the two common management challenges organizations meet in their day-to-day administration? (Choose
two.)

A. Be susceptible to malware and virus vulnerabilities in the network

B. Update physical network manually each time a new application is deployed.
C. Spend more time in provisioning and decommissioning lab environments.
D. Manage frequently occurringnetwork requests manually

Correct Answer: BC

QUESTION 5

What is the default virtual standard switch that is created when ESXi is installed on a hypervisor?
A. vSwitch 1

B. vSwitch

C. vSwitch0

D. vSwitcj2

Correct Answer: C
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